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Paper : ECOHC5126
= ( Development Economics-I)
Full Marks : 80
Pass Marks : 32
Time : Three hours

The figures in the margin indicate
full marks for the questions.

1. Choose the correct answer : (any six)
1x6=6

(@) Which of the following is a non-
economic factor of growth?

(i) Ideal legislative structure

(i) Collection of natural resources

(iiij) Growth of overall population in
course of time

(iv) Capital accumulation

Contd.
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(b) What is the underlying concept of .
economic development’P (e) V\;hlch of the following about strategy
' of imbala; e g7 )
()  Itis just another synonymous term ‘ nee growth is right
with economic growth )
(i) It is obtained by tracking
modifications in output allocation
and financial structure
(i) Economic development is
sustainable improvement in GNP

Deliberate imbalance in favour of
Some sectors

() Simultaneous investment in all
sectors

(i) Deliberate balance in favour of
some sectors

(iv) Improving the livelihood of urban (iv) simultaneous development in all
people sectors
(c) Which of the follOWing statements is ()  The theory of big push is based on
true about human capital ? : which of the following ideas ?
(i) Human resource and hhur;an () Internal economies of scale
: to each other ..
capital are related to . , () Small amount of investment
y ent an uman
(i) Human developm (i) External economies of scale

capital are related to each other

(iii) Both (i) and (ij) are correct
(iv)] Both (i) and (ij) are incorrect (99 To boost economic growth, the
government is most likely to—

(iv) Unbalanced growth

(d) Which of the following is a major source '
of human capital formation 1n India ? (i
(i) Expenditure on on-the-job training (i) increase the rate of taxation

increase the rate of interest

(i) Expenditure on education (i) provide incentives to investment

(i) Both (i) and (i) are correct (iv) provide incentives to save

(iv) Both (i) and (ii) are incorrect
63/1 (SEM-5) CC12/ECOHC5126/BL 3 Contd.
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(c) Explain the main causes of poverty ip

India. (b) Critically examine the Lewis model of

. i unlimited supply of labour.
(d) Discuss briefly the big push theory of

economic development by Rosenstien- (c) Explain the concept of vicious circle of

Rodan. poverty form demand and supply side.
(e} Discuss briefly the p opulation (d) Discuss the role of labour capital and
composition. technology in economic development.

(/ What are the

' advantages and
disadvantages of -

Answer the following questions : (any one)
labour intensive

techniques of production ? s

(9) Capital occupies an important i (a) Explain_cledarlylthe differencczies between
economic development of g nation economic deve opment an economic
Discuss. .gro.wth. Also dlsguss the main

indicators of economic development.

(h) Explain briefly the importance of 8+6=14
1;112521% r};niiﬁlttal formation in economic (b) Compare and contrast between the

: theory of balanced and unbalanced

() Establish the relationship between growth. 7+7=14

poverty and economic development. (c) Define Populdation. How are population
and economic development related ?
Mention some of the problems of over-
population in an economy.

V () Differentiate between capital and .labour
intensive techniques of production for
economic development.

2+5+7=14
4. Answer the following questions : (any two)
10x2=20
(a) Explain elaborately the impact pf
population growth "in economic
development.
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(Public Finance)
Full Marks : 80 5
Pass Marks : 32

Time : Three hours

The figures in the margin indicate
SJull marks for the questions.

1. Choose the correct answer from the

following : (any six) \. ~ 1x6=6
(@) Which of the following is non-revenue
receipt ?

(i) taxes on property
() commercial revenues
(i) grants and gifts

(iv) loans from abroad

Contd.
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(b)  Import duty is a
(i) tax revenue (€) Deficit budget occurs when

i (i)  government expenditure is less
(i) non-tax revenue than its revenue

fii) non-revenue receipt (ii) iovemment expenditure exceeds
S revenue
iv) income tax
(iv) (i) government expenditure is equal
to its revenue

(c) Under progressive taxation, tax liability ) siomemment & o
oes not make

()  decreases more than in proportion expenditure
to decrease in income

S ) ) () In a federation, horizontal equity refers
(i) increases more than in proportion ' t6

to increase in income _
() equal treatment of unequal

(iii) increases with the decrease in

. (i) unequal treatment of inequal

income

iij) Both (i) and i

(iv) neither increases nor decreases (. 4 o )
(iv) effects of taxation

(d) Which of the following is not the

haracteristic of public goods ? (9) The problem of externality is associated
char

with
(i) Non-Excludability () private goods
(i) Non-rivalry () merit goods
(iii) Partial Excludability (ifi) poverty
(iv) Equal consumption by all (iv) public goods
63/1 (SEM-5) DSE1/ECOHES016/BL 3 Contd.
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i ‘ ving is not the method
(h) Which of the following 2. Answer the foilc;wing questions

of redemption of public debt? . (any five)
' ' 2x5=10
i) refunding fa) What is public debt ‘

(i) redemption of external debt ) “Ot management?

‘ : What is interna] public debt 2
(iii) vear-wise partial repayment &l ' ebt -
ol s : (c) hat is non-excludability »
fiv) imposition of heavy import duty ity *

S (d) Mentlop @Y two models for efficient
il Laissez-faire in economics implies allocation of public goods.
i ini ent intervention e W _
() ~minimal governm (¢) What do you mean by incidenice of &
in economic affairs tax ? ce of

i) maximum government intervention _
“ in economigc affairs () What is fiscal federalism ?

(i) no government intervention in (9) Write two merits of indirect tax.

economic affairs

3. Answer the followi ;
fiv) total control of economic affairs by "OWIng questions : {any six)
the government S5x6=30
(@ Write the characteristics of a good tax
(i Customs duties are the taxes on system. S
fi) internally traded goods (b) Distinguish betw L s S
(i) internationally traded goods regulations.
(i) both internally and internationally (c) Write the causes of growing public
traded goods expenditures.
(iv) consumption goods (d) Write a short note on Coase theorem.
63/1 (SEM-5) DSEI/ECOHESO16/BL 4 /1 (SEM-5) DSE1/ECOHESOI6/BL Contd
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(e) Point out the merits and demerits of (d) State
and ex

progressive taxation. given by Adgii% the canon of taxation
) mith. ‘

1] Distinguish between incremental 5 Answer i

pudget and zero-base budget. ¢ following questions (

- (any one)

(g) Write the principles of division of (@) What is exte . 14x1=14

financial resources between the Central problems of exfc::aht.y ‘? Explain the

and the State governments. (b) rnalities.

Discuss the relative sy

(h) Write a note on benefit principles of and indirect taxes. periority of direct

taxation. '
. | (c) Explain the role of public debt. Di
- Discuss

. . 0 . c- . the i
() Distinguish between pure and impure various sources of public debt
public goods. '

() Explain the different sources of public
debt.

4. Answer the following questions : (any two)
10x2=20

(a) Explain the role of public finance in a
developing country.

(b) Discuss the different methods of
redemption of public debt.

(c) Explain the effects of taxation on
production and distribution.
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Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

1. Answer any six from the following
questions : 1x6=6

o MRS i oI Oed forl ¢
Choose the correct option :
W% [AFECs! AR OeSdl 8

(a) The problem of ‘Scafcity and Choice’
mainly give rise to

Tlioel Wi PRI PR A4S 8 F0
(i) problems of underdevelopment
CERESERRI)
Contd.
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(b)

®)

(iti)

(iv)

economic problems
wetafes O
non-economic problems
TA-SLATET T

None of the above

@R o8 2T

If the indifference curve is a downward

sloping straight line, it means that the

goods are .
=7, cofoat 3 3@ (A TIRR

@)

(@)

(ii))

(i)

perfect substitutes

syl e

perfect complementaries
oA AR

used in equal amount
FHARTTS IO

None of the above

@og qoNe I

63/1 (SEM-5) GE1/ECORG 5016/BL 2

(C} Fl)(ed Cost iS

foung
SR RIR
() in ¢t
he 1?1’18 Tun only
.. ) ‘ w
(i) in the short ryp
only
(T et
(iii) Both in
th
ol € short run and in the
| I % Dl Tomrs
(iv) None of the above
ST B8 Ty

(@)

)

(i)

(iii)

()

63/1 (SEM-5) GE1/ECORGS016/BL 3

A linearly hompo
function depicts

mmﬁn e T B P

geneous production

Increasing returns to scale
I M9 eAfomig

decreasing returns to scale
TP TR 2
constant returns to scale
TR AR Afoni

All of the above

G5 B!
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_ . AC curve ) An indiffere .
(e) At the lowest pomnt of the ¢ D5 [6ai e E e B generally
% T (AC) (e Frwed R T O T

) u )
(i) AC is greater than MC ®) pward sloping

ST (s
o5 T AT ITST @R i} T
() downwarg slopin
(i) AC is less than MC the origin g and convex tg
T I AT JTSF T W Wmmm?m%m
ses Y ¢ wt Al
@iii) AC is equal to MC (i) downward sloping and con
ST TN A I TN the origin et
©
(iv) AC is double the MC . W (RETTH w (TR T swes
W [T m—f\ﬁ)—qg RG] ;i@cf o7 (lU} vertical to the y axis
Y S S Bery
{f HETC=TFC+ TVC, then AC= )
h) Giffi
6 TC = TFC + TVC 2, (5T AC = (h)  Giffen goods are a type of
Memwew
) TC 0.
(1) // Q i : : (1) inferior goods
RSIE
e A/ il g% w
(ii) AFC+AVC i (i) luxury goods
ST BT AW + AT ARTEE I R W
(iii) AFC/Q (i) normal goods
o1g A R /AT AR TreiFe o
(iv) None of the above (iv) complementary goods
G9FF OIS =T AR &
63/1 (SEM-S) GEI/ECORGSOIG/BL 4 63/1 [SEM“S) GEI/ECORG 5016/BL o Contd.
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()

0)

Marginal Rate of Technical
1S a,;SOCi&llc?‘d with—
ergfrare AfORAT sfifae 29
FLE |
utility function
AT T
(i) production function
T eI
(iii) demand function
pifgnl TS
(iv) supply function
el T

arve is used to study

R A |

e

()

Indifference C
e (AR TR ————

sumer preference

(i) con
Borere 1

(i) purchase demand
R

(iij) consumer behaviour
Trreie S

(iv) producer preference
Geollidd AT

3/1 (SEM-5) R
63/1 (SEM-5) GE1/ECORG5016/BL 6 /1 SEM-5) GB1/ECORG5016/BL

v Susb'tzihgxtion 2

ANSwWeEr an
. Y five from the
questmns : o

following
2x5=10

Fizetzay MNEHrT Taq ey

(a) What is static equilibrium ?

(Z[oT SREINTe! o

(b) What is income effect ?
oI Ref 2

¢) Draw
(c) the Engel curve for an inferior

good.
<5
PR 79 31 o wree @ v )

What is factor elasticity of substitution ?
A efSmam Ffogoms &

(e) In .e.conomics, what is meant by
equ?l.lbnum ? Give an example of static
equilibrium.

YRGS SISl T 2 (T SRR
4B Bzt L

(@)

(f/  What is an Isocost line ?

AT [ Fe

7 Contd.
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(g) Tlustrate the slope of a production

possibility curve. to scale ? Explaip

Besiie FERA] (TR QU Bl RO T e 24orE SR oF
ﬁw%%&?mmw\

3. Answer any six from the following () Draw the TFC, Tyc AVC and
questions : 5x6=30 curves Arc
woR EIRE R B G R ¢ 0 P2 8, 35 Al 259, 15 ot

k , , RER GRSl RIS S,
fa) Explain the concept of consumer's et
surplus. (g9 What is an Isoquant? Explain the
SIEIT W SIROCST 2Ty = | properties of an isoquant,
TACATE 1 o2 T iR <o =

(b) Distinguish between static and dynamic
analyses of Economics.

wTfes tEfoT e sifedE Regge Sere

(h) What is Engel’s curve ? Derive an Engel
curve ‘for necessary goods.

GETR (@ 2 TG IR crgs o

N (FYe |

(c) Explain briefly the relationship between GG (A T 391 |
AC d Marginal Cost _ )
g:;gage Cost (B9 e e (i) Write on price effect and substitution
' - < 5 effect.
TC Y 9% I AF BIRIIES N
wg Roie ois oo Reies goms ol

(d) Why cannot two indifference curves _ ' N

intersect ? Explain. () Distinguish between cardinal utility and

IO fACor (q4E B TOI0 PR (R ? ordinal utility.

SRS | o R RI5E SIS S TS SoIfreR

Trers Ay el T

63/1 (SEM-5) GEI/ECORG5016/BL. 8 63/1 (SEM-5) GE1/ECORGS016/BL 9 Contd.
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Answer any two questions
following :

TS

from th
10%2=2(

oA R e Ded fordl &

ANsSwer qp,

questions -

ST AN firappyay By,
. \ a

on -
from the followin
14x1=14
BT foran

(@) Explain constant returns to scale, (@) D’SC‘QSGSJ the derjyy tion
~ Distinguish between economies and Possibility Curve fr});m} :r)f production
; i of \ ' contract curves
diseconomies of scale. AN g 0 e
= . ) ' (A4 Tesiwg » e
W 1 Afonk [ T Wl TR SURERL ) - ks
ool wiw wRregiier s myedl| b How ‘s
C 3 |
; ' A econo ~arcity ang Choice’ Creates
(b) Discuss some basic market models mIC problems Explain, i
indicating whether they work through ‘TR W : | ) 1
the market or i1?terfere with the market. 3 e ?;?1‘ (R St e §
TEIRY @ LTI FE G T 82O _
THTRe @ (TR e R <o W (@) What s least cost combination of
DA [ Inputs ? Discuss how least cost
a5 combmanor} of inputs is attained with
(c) Discuss the properties of indifference the help of 1ISoquants and isocost lines.
curves with diagrams. - IO IR AN {2 FwSeoim @ =
7 WEwe Farers (@ CFEPTR SHTETeAl TR IR RIS AT e mroim =)
=4 | TS 0 2, WA 4|
(d) Discuss the law of variable proportions.
In which stage will the producer decide
to produce ?
ARETNE oA RIETH! SHCTIoe <5 | BeaAe R
@A AT TGeAMTPIRIE Beoln SR
Praie =32
%3/1SeM-5) GE1/BCORGS0I6/BL 11 150
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ECONOMICS

Paper : ECOHC6136

( Indian Economy—II )

Full Marks - 80
Pass Marks : 32

Time : .3 hours

The figures in the margin indicate full marks
Jor the questions

1. Choose the correct answer (any siy : 1x6=6

(@) Which of the following is inconsistent
with the other?

(i) A budget deficit
(i) A reduction in taxation

(i) A reduction in  government
expenditure

(iv) A reduction in spending on

consumer goods

KB23/629 ( Turn Over )
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(2)

i dia is
(b) The largest food crop of I

(i) maize (i) rice
(iii) wheat (iv) gram N
{c) The oldest large-scale industry in India
is
(i) lron and Steel
(i) Jute
{iii) Cotton Textiles
(iv) Cement

(dj The main feature(s) of Indian
agriculture is Jare

(i) disguised unemployment

(ii) high productivity and large farmers
(iii) gamble in the hands of monsoon
(iv) Both (i) and (i)

(e} Excise duty is

(i) tax levied on certain  goods
produced and consumed in the
country

(ii) tax levied on certain  goods

imported into the country

(iii) tax levied on certain goods exported
from the country

(iv) All of the above

KB23/629 ( Conirused

( 3)

O What is/ar

e ]
Government ohfelme'asure{S) i .
i ndia tg Unearth black
: .
() Qemonetxzation and
chsclosure Scheme VOlumaIy
(ii) Specia] bearer bong
(i) Forej
Oreign Temittance s
gold bong Scheme o e

() All of the above

(i) 3%
(iii) 4-50,
(@) 6-4%

M) In Ingis which

Organizationg
agriculture

Credit needs?
(i) IDR]

(i) NABARD
(ii) ICAR
(iv) FCI

anm b R
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(4)

(5

(i) Indian labour laws broadly include

(i) working hours and conditions of (e) State 4 By
. , - ‘ WO object]

service mvestment. JeCtives of foreign
(ii) health and safety 0 M
. ention an
(ii) equality, minimum wages and formation in tIWO factors affecting cap;

social security benefits ' ndian agriculture g
(iv) All of the above @ Mention any  tw

() Which one of the following foreign
investments is not allowed in India?

{i) Gambling and Betting
{ii) Pharmaceuticals
(iti) Automobiles

{iv) Textiles

2. Answer any five of the following questions : B Investments i the fielg of foreign
2x5=10 and trade in India s of Investmentg
(a) Write two basic objectives of trade and (c) Briefly stat
Ry : a .
investment policy in India. sector refo_wr(inzhf3 Objectives of financig]
_ n Indig,
(b) Mention any two impacts of the e W
; . : Tite
monetary policy in India. e Inz'nOte On agricultyrg] Productivity
5 1a  in com - )
(¢) Point out two basic goals of agricultural Countries, Parison  with otper
price policy in India. € w
) hat is th
« i i e j
(d) What is new technology in Indian economy? role of MSME in Ingjap
agriculture?
) KB
KB23/629 ( Continued|"=23/629
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( 6)

of poor

( Bne 1y pont out the causes
performances of public sector
enterprises M India.
(g} Explain {he shortcomings of fiscal policy
of India.
structure 18

() Explain how agrarian
related to poverty

India.

{ii ~Discuss briefly the
agricultural price policy in India.
What are services?
contribution n
Mention three imp

India.

-
<
=)

Indian

4. Answer any two of the foll

(@) Explain the major challen
economic policy in India
of fiscal consolidation
capital surge.

() Explain the causes of low pro
in Indian agriculture.

KB23/629

and inequality in

main features of

What is its recent
economy?
ortant services in

owing questions -

10x2=2(

ges for macro-
in the context
and external

ductivity

Continuet Kpyo-
*23—900
/629

fc)

(d)

5- % ®
AUSWSI aIl‘,' one ()f (hf: h‘?‘
AL

(a)

(b)

(c)

:;hfs‘,s; 'S

irichijad,e

India N recept

changes in th
£es in the «f

indkl%tr . b iral ¢
A3 - ¥ O Tein e
°8 In In¢ ia NPOsition of
Explai
ain 1 )

o the role and

-TVICES  In  the W Umportance of
@COanV‘ . growth of ) ot

lowing arrecs
& Jues

Explai o
plain the role of mon

developi et
veloping e ietary polics
€ €conomy like policy i

What i
IS procurement

What
proi are the major chall
curement of aéri Challeng
C

India?

™

n

uiture nroad

SSs ths
ot

induy . .
stries in Indig Sugg
- wURECs
fac OVE the .die
ed by Smaﬂ‘SCale i the aiffic
n

(s
W
o
(o]
1
o
o
o
Y
ot
I

measures to rem
A4

C
duste .
ustries in Indi
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AT AN IO
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/ AN ol 3\
2023 // - j/ Raksa N AN
RIS b
ECONOMICS W (p\ B0 1992 /& )
EAY :‘_": 7 ,‘,‘% < ’1

PR .
" e - ) “)’\ e - ﬁ)(///
Paper : ECOHC2046 N T AN aee s

( Mathematical Methods for Economics—I )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Choose the correct answer of the following
(any s : 1x6=6

@ IfU={567 89 and A={5, 6}, then
complement of set A, i.e., (A°) is
i} {5, 6, 7, 8}
(ii) {5, 6}
(iii) {7, 8, 9
iv) { }
() Under the identity law of set theory
AN =
() A€
(i) ¢
(iii) A
(iv) O
K123/526 ( Turn Over )
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({ 2)

R { 3 )
(¢ ' \1 dx o
do gives
i
(1} 1 + o i ;‘y{,‘f} - 10 " . (‘JF?’} - ‘.[ gIves
o ] .
(”) )ﬁ \-WLL\‘ {/) ]Ow
(iii) 0 fii) 107 1oge 10
(e
. 10
v (ii7) x108e
(tv) None of the above (iv) O
d g ] . ¢+ canditions
( ,) If y = f (x) = b, then lim b iS . {h/ The neceSSaI’:?f aﬂd‘ Sulilf:lepiiy condi Am}i,;b
() b e ) qual to for minimization of the function y = f (x)
(u) M is d2
(iii) oo ) P -0and =5 >0
0 dx dy
e d d?x
(i) v&i{:o and =5 <0

(e} What is the Cartesian product of A x B if dy

A={x y} and B =1, 2}? 2
. dy~0anddx—o
() s 1), @ 2 B om0l
1} 1, [y 2
(i) {6 1), (x 2), G 1), & 2} e S0 e i
(i) {1, x, @ 9, Ly, 2 v . B
() (w1, G2, e 052 @ [a*dx gives
() When the slope of average cost (AC) is (i) lOga . i
e % (AC) =0, then j
zere, 15 dQ( (i 2 ¢
log, a
(i) MC< AC :
(ii) MC > AC & aloéli?z+c
= AC '
. Mc Af the above (iv) None of the above
(iv) ReEEE (Contimuzd KB23/52¢
T = g
KB23/526 ( Turn Over )
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() Which one of the followin, . (5)
irrational number? IS ap
. A
0 i;_ 3 NSWer any six of the following questions
dy 5%6=30
i) 2-3123457... ind Y .
(i) 2-3 (a) Find . of the following functions - 2+3=5
(ii) 1-404040... . B
. Q) y=fl)=22
(iv) 1.14 N
2. Answer any five of the following questions - ]
2x521 (b) Given the consumption function
Evaluat C=500- 2000
(a) valuate : 53y
2 .
. x“+T7x-8 where Y is income, find mare;
S . > ginal
361511 (x—1) propensity to consume (Mp() ke
3 ¥'=45. Also find marginal propensity of
(b) Evaluate [ (x*+5)dx. RE Bl 3425
(¢ Find the equilibrium ice [P}
i : L Il _price (P} and
(c) Define eXponentlal function. egullllbnum quantity (Q) from the given
1034 and B=1{34 5,6}, simple market mode] :

{d) If A s 4 D f_ Venn diagram. Qd =a-hP

represent An B in the Ven Qg =—c+dP

=
(¢) Define point of inflection- Qq = Qs
svati the
() Find the second-order derivative of @ ghe otal cost function of a firm is given
: Yy
function
AR) function is where Q is the quantity produced. Find
e revenue | he out the out ; -

(9) The averag 0-30 find t output at which marginal cost
given by AR =10 ) 5 =5 (MC) is equal to the average cost (AC).
elasticity of demand Whe? . ued KB23/52

( Contiris® 2 { Turn Over )
KB23/526
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(e) Find the extreme value of the § 7 )
/ © Tunets
y=2x% -24x+10 Detioy
4. Answer any two of the followin
VINg questi

ons :

() Examine the continuity of the funct
‘ Ctio
f)= x% —2x+3 > When i (a) Deri =
el erive the mathematical reiar:
between averace i et
8¢ revenue, marginaj

= 2 5 13 B When le
= 2x° —
X+5, when x<1 Te‘.’EHUe. and price elasticity of demamned
(g) Integrate the following : using differentiation. TR
. 2+3s5
(Q) f(20x+10«/;+ex+50)dx ) () Given the d
O=a-bP, emand function,
(ll} J‘_erj—_g_dx ] , find the total reveniye
x2 +3x function. enue
[ll) If the consu p)
(h) Define the concepts of quasi-convex and is given by mer’s demand function
quasi-concave. 5
. =f(P)=./(60-
() A firm’s production is given by A . ) =60 -2F)
2.3 2 nd the consumer’s s
Q=fl)= —§L +10L market price P19, surplus ,x/r;ir;_lo
where L is the labour employed. Show () State and prove th .
that diminishing marginal product of differentiation. € quotient rule of
Jabour operates when employment of 3+7=10
[dl) For the
Jabour is 6. market model
() The total cost function of a firm is given D=q-pp
by 2 0 52_C+d(‘r’“f)
c(Q) =0-0050° _0.020? +300+300 =S
where D, S
Find— > = P and t denot
_10: suppl ; e demand,
;) average cost (AC) when Q=10 PPY, price and rate of sal
U g nen 0 =10 excise duty. Find th ) ¢ tax or
ii) marginal cost (MC) W EEaEy gyded which maximj ¢ optimal tax rate
(ii) 2+3 - maximizes tax revenuye.
( continued 3/526
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(8)

y one of the following questions : "

~werl an
5. %nb\’& el W/
In a Cobweb model
(a) Qdfza’bpt (ao b>0)
Oqt = _c+dP1 (G d >0)

Obtain the time path of pric;e P and' a}so
analyze the three situations arising
depending Upon the slopes of demand
and supply curves. 8+6=14
A monopolist has the following total

b (TR) and total cost (TC)

revenue
functions :
TR = R(O) - 300- Q2
rc=Cc(0)=0° _1502 +10Q +100

Find—

(i) profit maximizing output;

(i) equilibrium price;

(iii) point elasticity of demand at
equilibrium level of output. 10+2+2=14

(c) (i) The marginal revenue and total cost
functions of a monopolist are

MR =20-2Q and TC = Q? +8Q+2

) Find the profit maximizing output.
(i) Given the Cobb-Douglas production
function Q=AL*K!'"% find the
Eggginal physical productivity of

ur and capital respectively.
6+4+4=14
* ok ok
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202 3 S
E '
CONOMICS Baksa
Paper {% Pin 781320 <~’}'

Full Marks - 80 —
= %Y
Pass Marks : 39

Time : 3 hours

T
he figures in the margin indicate full marks
Jor the questions

1. Choose the correct answer of the

following
(any siq :

1x6=6 -

(@) Economic relations of countries are
fundamentally governed by their

() economic independence
(i) economic inter-dependence
(i) exports and imports of goods
(iv) economic dependence
(b) According to Ricardo, the basis of
international trade is
(i) comparative cost difference
(ii) absolute cost difference
(iij) homogeneous production

(iv) equal cost difference

KB23/632 - ( Turn Over )
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theory of

.on of labour

(iit) specializan
(iv) BoD () and (@
The ad valorem tariff is & duty levied
(@)
(i) as & fixed percentage on the value
of traded commuodity
(i) as & fixed amount of money per
physical anit of ~commo ity
ported

imported or €X

(iti) according to weight o&F the
commodity
port duty

(iv) as an im
factor elasticity reversal

(e) The existence of
d in terms of

can be explaine
(i) elasticity of substitution

(ii) price elasticity
(iti) import substitution

(iv) elasticity of demand

KB23/632

( continued |

(3 ]
D The
Ic
Su
pported teCtlo
() lnCrea Strongly
(} Creatlo g Vern en
(iii) ; ex t reven
1) infloy, ; ternal econg
[} el Mieg
(U} AH Of the gn Caplfal
Ove

(i) 1971
(@) 1974
(i) 1981
(iv) 1990

() - A spec nder the
pecified exch
7 Change rate y
fixed exchange rate is determined bt
y

(i) d

; ) emand and supply of goods

1)) quantities of exports and import
ver O
(iti) monetary authority i

(tv) foreign exchange reserve

KB23/632
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( 4)

1 od is
intensity of & B9

(b)  How
Wo
capitﬂl i OF b e uld you determzmﬁ
U) The od by the v& 1 ) ' trdde on the Basi e the Zains
' measur® t « differences in factors dlffEI”encesp SIS of absolyte Cout
- ahta NS N
@ a bour (c) st
* 4e 0 1abo ate th
(i) capxta_\ t iy ) e' main featyreg of multingsine. .
.\ apour to capit : OrPorations. ~national
(i) 1& e differences in factors
) quantitative (d) What are the ar
(i) . ) trade? guments againg; fea
£ the following questions : :
; five O =
o. Answer &y i 2x5=10 ()

What were th
€ caus
; cost advantage
Comparatwe
How does

: s ’ es of financial crisis
: 7 India during 2007097 .
a) in from international _ _
(@) theory measure gain () Briefly explain the effects of import
trade? a? duotas for the importing country.
. andr
(b) What s re@procal s . . (9) What are the main features of Bretton
What do you mean by factor intensity? Woods system? o
(c) = :
@ How does free international frr;O:;:'?t | () What were the factors that led to the
. » 2 e
of factors affect the prices © :TZi\deWn of the Bretton Woods
) What is meant by protection? it
(e . ] :
What is the difference between specific () How is actual exchange rate determined
() a 4 valorem duties? by the offer curves?
and ad valo ’
. i {) Write the main .
: ts of. flexible exchange ain features of financial
(g) Write two mert globalization.
rate.
. . . 4. Answer any two of the i ; .
: tions y two o ¢ following questions :
3. Answer any six of the following ques 5x6=30 . 10%x2=20
. a
(@) Point out the importance of @

What is meant by tariff? Explain the
different types of tariffs.

( Continue d) KB23/632

international trade for a country.

2+8=10
KB23/632
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(6)

b) What is flexible exchange rate? Give
( ybur arguments for and against flexible

exchange rates. 2+8=10

(c) Discuss the positive and negative effects
of financial globalization 1n Indian

economy.

(d) What were the factors that led to
recession in India during 2007-097?
What was its impact on the Indian
economy? 4+6=10

Answer any one of the following questions : 14

(a) Explain the Heckscher-Ohlin theory of
international trade. In what respects it
is superior to the classical theory?
10+4=14

() What do you mean by multinational
corporations? Discuss their role in the
developing countries. 2+12=14

(c) Examine the infant industry argument
for protection as a  means to

industrialization of developing
countries.

* ok Kk
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